MATHS ASSIGNMENT - 2
  STD-VI                              WHOLE NUMBERS  
1. Counting numbers are called
a) Whole numbers    b)  Natural numbers    c) Integers    d)  None of these

2. Product of first five whole numbers
a)  100           b)  10 	c)    120      d)   20
 
3. Which number is a whole number but not natural number ?
a)  1		b)  0		c)  2		d)  3

4. Which natural number has no predecessor
a)  0		b)  1		c)  2		d)  3

5. The successor of 10999 is
a) 10000		b)  11000		c)  12000         d)  11999

6. Write the smallest 4- digit number having three different digits

7. Write the value of  1507 – ( 625  ÷ 25 )

8. Solve by Suitable Arrangement :   693 + 469 + 307 + 531

9. Solve by using suitable Property :       5634  x  1001

 Write the successor of   2489 + 3510 =  ____________
